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QUESTION 1

Which two features should an administrator use to protect a VMware vCenter Server Appliance from host and hardware
failures? (Choose two.) 

A. VMware Distributed Power Management 

B. vCenter High Availability 

C. vSphere High Availability 

D. vSphere Fault Tolerance 

E. VMware vSphere Distributed Resource Scheduler 

Correct Answer: BD 

 

QUESTION 2

When enabled, what ensures only signed drivers can load into a virtual machine? 

A. Secure Boot 

B. lockdown mode 

C. micro-segmentation 

D. TPM 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vsphere.vmc-aws-manage-
vms.doc/GUID-898217D4-689D-4EB5-866C-888353FE241C.html 

 

QUESTION 3

A vSphere administrator is performing a greenfield vSphere deployment with these requirements: 

1. 

vCenter Server sized for 100 ESXi hosts and 1000 virtual machines 

2. 

Each ESXi Host with 512 LUNs and 2048 paths mapped from Dell EMC XtremIO Storage Array 

Which vCenter Server Appliance deployment size meets the requirements? 

A. Large 

B. Tiny 
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C. Medium 

D. Small 

Correct Answer: D 

 

 

QUESTION 4

An administrator runs multiple clusters spread across multiple vCenters. The administrator needs to be able to migrate
any VM to any cluster. 

On which two vCenter Server objects could the administrator configure EVC mode to fulfill this requirement? (Choose
two.) 

A. VM 

B. resource pool 

C. datacenter 

D. cluster 

E. folder 

Correct Answer: AB 

 

 

QUESTION 5

A vSphere administrator uses a Dedicated Failover Hosts Admission Control Policy in a cluster. An ESXi 

host fails and vSphere HA attempts to restart the VMs onto the dedicated failover hosts. The hosts have 

insufficient resources. 

What happens to the VMs? 

A. vSphere HA restarts VMs in another cluster. 

B. vSphere HA suspends the VMs until a host is available. 

C. vSphere HA powers down the VMs. 

D. vSphere HA attempts to restart the VMs on other hosts in the cluster. 

Correct Answer: D 

Reference: https://pubs.vmware.com/vsphere-50/index.jsp?topic=% 2Fcom.vmware.vsphere.avail.doc_50%2FGUID-
C4F5F9EE-4235-4151-BEBE-FCB2A752407B.html 
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QUESTION 6

What provides certificate and license management services? 

A. Auto Deploy 

B. Unified Access Gateway 

C. vCenter Service 

D. Platform Services Controller 

Correct Answer: D 

 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.psc.doc/GUID-
FE4E0496A14C-4331-A7D6-1200F7C068A5.html 

 

QUESTION 7

Which optional module of vSphere Update Manager supports patch recalls and notifications? 

A. VMware vSphere Update Manager Download Service 

B. vCenter Server Lifecycle Manager Service 

C. vSphere Auto Deploy 

D. VMware vSphere Update Manager Extension 

Correct Answer: A 

Reference: https://blogs.vmware.com/vsphere/2019/02/using-the-vmware-update-manager-downloadservice-umds.html 

 

QUESTION 8

The VM storage policy compliance status is out of date. 

Which step should the administrator take to maintain compliance with the existing storage policy? 

A. Change the service level capability. 

B. Assign a new storage policy. 

C. Reapply the storage policy. 

D. Migrate VM to another host. 

Correct Answer: C 
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Reference: https://docs.vmware.com/en/VMware-
vSphere/6.7/com.vmware.vsphere.storage.doc/GUID476613DD-787A-4E97-8FA5-00639D206FD2.html 

 

QUESTION 9

Which two options are available for a vSphere administrator to install ESXi on a host? (Choose two.) 

A. vSphere Replication 

B. VMware Workspace ONE 

C. vSphere Update Manager 

D. Interactive Mode 

E. vSphere Auto Deploy 

Correct Answer: CE 

 

QUESTION 10

An administrator suspects poor VM performance. The administrator runs esxtop and sees the following output from the
CPU and memory screens: 

6:48:19pm up 4:22, 528 worlds, 8 VMs, 16 vCPUs, CPU load average: 0.26, 0.36, 0.16 VMKMEM/MB: 8151 managed:
407 minfree, 3055 rsvd, 5095 ursvd, high state 

What can the administrator conclude from this output? 

A. The host has too many worlds running. 

B. The host is ballooning. 

C. The host has adequate memory. 

D. The host is under CPU pressure. 

Correct Answer: C 

 

 

QUESTION 11

Which two options ensure all ESXi servers are protected from unsigned code? (Choose two.) 

A. VM Encryption 

B. vTPM 

C. UEFI Secure Boot 
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D. TPM 

E. vSAN Encryption 

Correct Answer: C 

 

QUESTION 12

An administrator manages a cluster containing Production and Test VMs. Production VMs run on a VSS 

port group and a storage array separate from the Test VMs. The administrator wants to prevent large 

(>500GB) file transfers in Test from impacting Production. 

Which two configuration changes should the administrator make to achieve this? (Choose two.) 

A. Migrate the VSS port groups to VDS port groups. 

B. Install a second virtual NIC in the Production VMs. 

C. Move the Production VMs to a resource pool with a memory reservation. 

D. Enable the Test VMs to a dedicated folder with CPU shares set to low. 

Correct Answer: AB 

 

QUESTION 13

An administrator is installing a Platform Services Controller instance. 

Which two options are available during the installation process? (Choose two.) 

A. choose deployment size 

B. specify vSphere administrator credentials 

C. enable Enhanced Linked Mode 

D. create a vCenter Single sign-on domain 

E. join an existing domain 

Correct Answer: DE 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.install.doc/GUIDAD3C6884-C1CC-4A2A-A373-1BA240C44C38.html 

 

QUESTION 14

Which two tasks are allowed in the X-Lence data center? (Choose two.) 
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A. User C can convert AX-850 to VM. 

B. User B can delete from disk XRK-01. 

C. User A can take a snapshot on XRK-01. 

D. User A can take a snapshot on AX-1000. 

E. User C can view configuration of AX-1000. 

Correct Answer: BD 

 

 

QUESTION 15

Which migration technique could be used to move a VM between vCenters while the VM is powered on? 

A. Suspended 

B. Shared-nothing vSphere vMotion 

C. Cold D. Storage vMotion 

Correct Answer: D 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.vcenterhost.doc/ GUID-
FE2B516E-7366-4978-B75C-64BF0AC676EB.html 
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